IPan}Head|Sheet/Metal]Screws[Continued)

Part # Size Description PKG TYPE PKG QTY SLEEVE | CASE QTY Weight / M UPC # WHSEIECS:LE
F56993 |10x1 TYPE A STEEL JAR 500 N/A 4000 6.99 05999456993 8.24 | EA
F63511 |10x1 TYPE A STEEL BUCKET 3000 N/A N/A 6.99 62591263511 42.69/EA
F48428 |10x1-1/4 TYPE A STEEL DECIMAL PAK 100 500 4000 8.07 05999448428 1.80/C
F60852 |10x1-1/4 TYPE A TAPPING JAR 500 N/A 8000 8.07 05999460852 9.22/ EA
F51650 |10x1-1/2 TYPE A STEEL DECIMAL PAK 100 500 3000 9.52 05999451650 2171/C
F51802 |10x2 TYPE A STEEL DECIMAL PAK 100 500 3000 11.78 05999451802 256/C
T
Self:Drilling]Screws] @ (o
Part # Size Description PKG TYPE PKG QTY SLEEVE | CASE QTY Weight /M UPC # WHS;:ECSEALE
F43033 |8-18x1/2 PAN HEAD CAMTAP Z DECIMAL PAK 100 500 4000 3.16 05999443033 1.00/C
F43010 |8-18x3/4 PAN HEAD CAMTAP Z DECIMAL PAK 100 500 4000 4.49 05999443010 1.24/C
F57015 |8-18x3/4 PAN HEAD CAMTAP Z GRIP JAR 1000 N/A 16000 4.49 05999457015 11.75/ EA
F43034 |8-18x1 PAN HEAD CAMTAP Z DECIMAL PAK 100 500 4000 5.32 05999443034 1.39/C
F65017 ([8-18x1 PAN HEAD CAMTAP Z GRIP JAR 750 N/A N/A 5.32 05999465017 10.19/EA
F65022 |8-18x1 HEX HEX/WASH CAMTAP Z GRIP JAR 750 N/A 12000 5.38 05999465022 10.27 / EA
F65023 |8-18x1-1/4 HEX |HEX/WASH CAMTAP Z GRIP JAR 500 N/A 8000 6.61 05999465023 8.29/EA
F48792 |10-16x3/4 PAN HEAD CAMTAP Z DECIMAL PAK 100 500 4000 6.13 05999448792 1.54/C
F50481 |10-16x1 PAN HEAD CAMTAP Z DECIMAL PAK 100 500 4000 6.73 05999450481 1.64/C
F49004 |10-16x1/2 PAN HEAD CAMTAP Z DECIMAL PAK 100 500 4000 4.36 05999449004 1.22/C
F56990 |10x3/4 HEX HEX/WASH CAMTAP Z GRIP JAR 750 N/A 12000 6.37 05999456990 11.61/EA
F65025 [10x1 HEX HEX/WASH CAMTAP Z GRIP JAR 500 N/A 8000 7.05 05999465025 8.68 / EA
F56987 |10x1/2 HEX HEX/WASH CAMTAP Z GRIP JAR 1000 N/A 16000 4.60 05999456987 11.95/ EA
b el g L
Part # Size Description PKG TYPE PKG QTY SLEEVE | CASE QTY Weight /M UPC # WHS;:ECS;LE
F44919 |6-32x1/2 STEEL MACHINE SCREW DECIMAL PAK 100 500 5000 2.33 05999444919 0.64/C
F47824 |6-32x3/4 STEEL MACHINE SCREW DECIMAL PAK 100 500 5000 3.03 05999447824 0.75/C
F44922 |6-32x1 STEEL MACHINE SCREW DECIMAL PAK 100 500 5000 3.78 05999444922 0.88/C
F51024 |6-32x1-1/4 STEEL MACHINE SCREW DECIMAL PAK 100 500 4000 4.52 05999451024 1.08/C
F44925 (6-32x1-1/2 STEEL MACHINE SCREW DECIMAL PAK 100 500 4000 5.27 05999444925 1.20/C
F44928 |6-32x2 STEEL MACHINE SCREW DECIMAL PAK 100 500 3000 6.77 05999444928 1.56/C
F44943 |8-32x3/4 STEEL MACHINE SCREW DECIMAL PAK 100 500 5000 4.58 05999444943 1.01/C
F44946 |8-32x1 STEEL MACHINE SCREW DECIMAL PAK 100 500 4000 5.80 05999444946 1.29/C
F47827 |8-32x1-1/4 STEEL MACHINE SCREW DECIMAL PAK 100 500 4000 6.85 05999447827 146/C
F50868 |8-32x1-1/2 STEEL MACHINE SCREW DECIMAL PAK 100 500 4000 8.02 05999450868 1.66/C
F51256 |8-32x1-3/4 STEEL MACHINE SCREW DECIMAL PAK 100 500 3000 9.39 05999451256 1.98/C
FA7830 [8-32x2 STEEL MACHINE SCREW DECIMAL PAK 100 500 3000 10.21 05999447830 211/C
F44952 |10-24x1 STEEL MACHINE SCREW DECIMAL PAK 100 500 4000 7.92 05999444952 1.64/C
F44955 |10-24x1-1/4 STEEL MACHINE SCREW DECIMAL PAK 100 500 4000 9.36 05999444955 1.88/C
FA47833 [10-24x1-1/2 STEEL MACHINE SCREW DECIMAL PAK 100 500 3000 10.81 05999447833 223/C
F48032 |10-24x2 STEEL MACHINE SCREW DECIMAL PAK 100 500 3000 13.70 05999448032 2.68/C
F44964 |10-32x3/4 STEEL MACHINE SCREW DECIMAL PAK 100 500 4000 6.79 05999444964 145/C
F44967 |10-32x1 STEEL MACHINE SCREW DECIMAL PAK 100 500 4000 8.35 05999444967 1.71/C
F51255 [10-32x1-1/2 STEEL MACHINE SCREW DECIMAL PAK 100 500 3000 11.46 05999451255 2.33/C
F51817 |1/4-20x1/2 STEEL MACHINE SCREW DECIMAL PAK 100 500 4000 10.09 05999451817 2.00/C
F44973 |1/4-20x3/4 STEEL MACHINE SCREW DECIMAL PAK 100 500 4000 12.54 05999444973 240/C
F44976 |1/4-20x1 STEEL MACHINE SCREW DECIMAL PAK 100 500 3000 15.10 05999444976 293/C
F51284 |1/4-20x1-1/4 STEEL MACHINE SCREW DECIMAL PAK 100 500 3000 17.51 05999451284 3.33/C
F48962 |1/4-20x1-1/2 STEEL MACHINE SCREW DECIMAL PAK 100 500 3000 20.08 05999448962 3.75/C
F50654 [1/4-20x2 STEEL MACHINE SCREW DECIMAL PAK 100 500 2000 25.21 05999450654 4.62/C

Call to order:

RACK-A-TIERS Mfg. Inc.

Box 24010

Royal Oak RPO
Victoria, BC V8Z 7E7
sales@rack-a-tiers.com

www.rack-a-tiers.com

1-888-939-9991

Send your orders to:
orders@rack-a-tiers.com
Fax: 1-250-479-1489




